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A. LISTENING (1 pt)

Part 1. You will hear an interview with a girl, called Maria Shaw, who went on an outdoor adventure trip, with girls from her school. Choose the correct answer A, B or C for each question.

1. Maria didn’t think she’d find the trip hard because _______.


A. she’d had experience o f cam ping with her family.


B. she’d always cycled a long way to school every day.

C. she’d been on walking trips with the school.

2. What was Maria worried about during the first day’s activities? 

A. She wouldn’t complete everything in time.
B. She’d be very cold while she was there.

C. She wouldn’t manage to sail in the right direction.

3. What made the climb up the rocks so slow?

A. The group kept slipping on the slopes.

B. Several students fell and hurt themselves.

C. Parts of the climb were extremely steep.
4. When M aria’s group got to the top of the rocks, they _______.

A. were given a talk on the environment.
B. to o k photos of each other.

C. ate a big meal.

5. Maria says that by the end of the trip the girls were _______.

A. feeling keen to go home again.

B. working together better.
C. cooking food for each other.

Part 3: You will hear a boy, called Josh talking to his class, about a trip he recently went on. Fill in each blank with no more than two words or numbers.

I. TRẮC NGHIỆM NGÔN NGỮ (3,5 điểm)

PART 1: PHONETICS (0.5 pts - 0.1/ each)

Task 1: Choose the word (A, B, c or D) whose underlined part is pronounced differently from

that of the rest in each o f the following questions.

11. A. agreed
B. believed
C. remarkedly
D. smiled
12. A. exterminate
B.contemplate
C. considerate
D. exaggerate
Task 2: Choose the word (A, B, c or D) whose main stress pattern is different from that o f the

rest in each of the following questions.

13. A. comeuppance
B. chalartan
C. ignominy
D. desultory

14. A. communication
B. media
C. current
D. homework
15. A. sensitive
B. compliment
C. vertical
D. assurance
PART 2: LANGUAGE FUNCTION (0.5 pts - 0.1/ each)

Choose the word or phrase (A, B, C or D) that best completes each of the following exchanges.

16. - Linda: "Could you turn down the radio, please?"  -Henry: “_________.”
A. I feel sorry.

B. Yes, I can.


C. I am, of course.

D. Yes, with pleasure.
17. - Peter: “_________! it is nearly 11 p.m. and we have to go home now.” – Thomas: “I see.”
A. Come in for

B. Come over


C. Come on

D. Come across
18. - Tom: “Goodbye. It was great to meet you, Mary.” - Mary: “__________ guys.”
A. Later,

B. What’s the matter?


C. That’s too bad,

D. What a pity,

19. – Vicky: “_________.” – Mary: “Thanks. I’ll write to you when I arrive there.”

A. Good luck

B. Have a go


C. Have a good trip
 
D. Good bye

20. – Nancy: “_________.” – Bill: “Yes. I'd like to buy a camera."

A. Do you look for something?
B. Excuse me. Can I help you?

C. Excuse me. Do you want to buy it?
D. Excuse me. Can you help me buy something? 

PART 3: SYNONYM AND ANTONYM (0.5 pts - 0.1/ each)

Task 1. Choose the word or phrase (A, B, C or D) that is CLOSEST in meaning to the underlined part in each of the following sentences. 

21. She simply took it for granted that the check was good and did not ask him any questions about it. 

A. objected to it

B. permitted it


C. looked it over 

D. accepted it without investigation

22. I think we have solved this problem once and for all. 

A. in the end
B. temporarily
C. forever
D. for goods

23. The rains of 1993 causing the Missouri river to overflow resulted in one of the worst floods of the 20th century. 

A. stopped 
B. lessened 
C. caused 
D. overcame 

Task 2. Choose the word or phrase (A, B, C or D) that is OPPOSITE in meaning to the underlined part in each of the following sentences.

24. At first, our problems seemed insurmountable. However, now I think we'll be able to find solutions.

A. able to be solved

B. not able to be discussed


C. able to be discussed 
D. not able to be solved

25. Dalat is famous for various ideal excursion places such as Xuan Huong lake, pine forests and waterfalls.

A. similar
B. different
C. unique
D. likely

PART 4: LEXICO - GRAMMAR (2.0 pts - 0.1/ each)
Choose the word or phrase (A, B, C or D) that best completes each of the following sentences. 
26. There was a huge decline ________the number of tigers.


A. in
B. for
C. of
D. out

27. I’d rather you ________anything about the garden until the weather improves.


A. don’t make
B. didn’t do
C. don’t do
D. didn’t make

28. A part – time job gives me the freedom to ________my own interests.


A. pursue
B. chase
C. seek
D. catch

29. The new road currently under ________will solve the traffic problems in the town.


A. design
B. progress
C. construction
D. work

30.  - Daisy: “What a lovely house you have!” 
- Mary: “________.”


A. Lovely, I think so



B. Thank you. Hope you will drop in


C. Of course not, it’s not costly
D. No problem

31. According to the boss, John is the most ________ for the position of executive secretary.


A. supportive 
B. caring 
C. suitable 
D. comfortable

32. The children went ________with excitement.


A. wild
B. wildly
C. wilderness
D. wildlife

33. The sudden resignation of the financial director put the company in a very ________position.


A. weak
B. unsteady
C. vulnerable
D. collapsed

34. David: Would you like fish or meat?     Mary: I ________fish, please.


A. would rather
B. would prefer
C. suppose
D. believe

35. Many teenagers show signs of anxiety and ________when being asked about their future.


A. depress 
B. depression
C. depressed
D. depressing 

36. She awoke with an _______sense of foreboding which she could find no reason for. 

A. intelligible
B. intensive
C. indelible
D. intangible

37. His behaviour was always beyond _______.

A. criticism
B. recrimination
C. fault
D. reproach

38. When you win the race, you can _______in the glory of your achievement.

A. stand
B. bask
C. bathe
D. lie

39. Don’t _______over the main points so quickly - they’re important. 

A. slide
B. slip
C. skate
D. ski

40. The two boys really _______it off from the moment they met.

A. hit
B. struck
C. made
D. put

41. I for one am not sorry. He should have _______than to lend them money.

A. thought more
B. been better
C. know more
D. known better

42. “Last I heard, she was working in South Africa.”        “_______?”

A. Why did she
B. How come
C. How did she
D. Why come

43. No, thank you. I don’t really like wine, or any kind of alcohol _______.

A. it matters
B. in this matter
C. for the matter
D. for that matter

44. I heard he passed his exams, but _______that I know little else.

A. other than
B. more of
C. instead of
D. in addition

45. “I’ll never finish this by five.”        “If _______, I’ll work overtime.”

A. is needed
B. need to be
C. needing
D. need be
II. TỰ LUẬN KIẾN THỨC NGÔN NGỮ (1,5 điểm)

PART 1: WORD FORM (0.5 pts – 0.05/ each)
Give the correct form of the words in brackets to complete the following sentences.

	46. These …………………….………….. clothes cannot catch fire easily. 
	(flame)

	47. He’s more …………………….………….. than expected. 
	(tolerate)

	48. The museum doesn’t charge for …………………….………….. on Sundays. 
	(admit)

	49. We can look forward to a period of …………………….…………... 
	(prosper)

	50.The firm has an annual …………………….………….. of $10,000. 
	(turn)

	51. The cat is …………………….………….. in the sunshine. 
	(luxury)

	52. Tom spoke …………………….………….. because he was so excited. 
	(breath)

	53. It's sometimes hard to …………………….………….. one sample from another. 
	(different)

	54. …………………….………….. and overpopulation are two of the most difficult problems in the Third World countries. 
	(forest)

	55. A list of …………………….………….. events will be posted on the notice board. 
	(come)


 PART 2: ERROR CORRECTION (0.5 pts – 0.1/ each)
There are 05 errors in the following passage. Identify the errors, write the line number and correct them. Write your answers in the numbered spaces below. Number (00.) is done as an example.

	Line
	Passage

	1

2

3

4

5

6

7

8

9

10
	
Thomas Edison was bore in Milan, Ohio, in 1847. His family moved to Port Huron, Michigan, when he was seven years old. Surprising, he attended school for only two months. His mother, a former teacher, taught him a few things, but Thomas was mostly self-educated. His natural curiosity led him to start experimenting at a young age. Thomas Edison lit out the world with his invention of the electric light. Although the electric light was the most useful, it was not his only invention. He also invented the record player, the motion picture camera, and above 1,200 other things. About every two weeks he created something new. He worked 16 out of every 24 hours. Sometimes he worked so intensely that his wife had to remind him sleep and eat. Thomas Edison died in 1931, in West Orange, New Jersey. He left numerous inventions that improved the quantity of life all over the world. 


	Line
	Error
	Correction

	1
	00. bore
	( born

	………..
	56. ……………………………………..
	( ……………………………………..

	………..
	57. ……………………………………..
	( ……………………………………..

	………..
	58. ……………………………………..
	( ……………………………………..

	………..
	59. ……………………………………..
	( ……………………………………..

	………..
	60. ……………………………………..
	( ……………………………………..


PART 3: PREPOSITIONS AND PHRASAL VERBS (0.5 pts – 0.05/ each)

Supply each space with a suitable preposition or adverbial particle to complete each of the following sentences. 

61. There's a choice …….………….. flying to London Heathrow or Stansted.

62. Local residents were disappointed …….………….. the decision of the local authority.

63. His belief …….………….. not harming animals was something he learned from his mother.

64. The people next door are annoyed …….………….. us for making so much noise last night.

65. The process …….………….. painting such a large mural is more complicated than you might think.

66. Several people went …….………….. the pickpocket, but couldn’t catch him.

67. The hotel was terrible, but the wonderful beach made up …….………….. our disappointment.

68. If it wasn’t an accident, he must have done it on purpose.

69. I hate being looked …….………….. on  whenever I make mistakes at work.

70. The new magazine about maintenance comes …….………….. tomorrow.

KỸ NĂNG NGÔN NGỮ 

PART 1: READING (2 pts - 0.1/ each)

Task 1: GUIDED CLOZE TEST 

Choose the word or phrase (A, B, C or D) that best fits each blank in the following passage.

Many parents believe that their children (71) ________ be taught to read right after they have learnt to walk. This is fine if the child shows a real interest but (72) ________ a child could be counter-productive if she or he isn't ready. Wise parents will have a relaxed (73) ________ and take the lead from their child. What they should provide is a selection of (74) ________ toys, books and other activities. Nowadays there is plenty of good (75) ________ available for young children, and of course, seeing plenty of books in use about the house will also (76) ________ them to read.

Of course, books are no longer the only (77) ________ of stories and information. There is also a huge range of videos, which can (78) ________ and extend the pleasure a child finds in a book and are (79) ________ valuable in helping to increase vocabulary and concentration. Television gets a bad press as far as children are concerned, mainly because too many (80) ________ too much time watching programmes not intended for their age group. 

71.   A. should  
B. could not  
C. had to  
D. must not

72.   A. insisting  
B. making  
C. forcing  
D. starting

73.   A. pastime  
B. attitude  
C. decision  
D. competition

74.   A. bright  
B. expensive  
C. adult  
D. stimulating

75.   A. amusement
B. produce  
C. sense  
D. games  

76.   A. provide  
B. encourage  
C. provoke  
D. attract

77.   A. search  
B. source  
C. site  
D. basis

78.   A. enjoy  
B. watch  
C. reinforce  
D. assist

79.   A. properly  
B. perfectly  
C. worthily  
D. equally

80.   A. devote  
B. spend
C. pay  
D. save  

Task 2: READING COMPREHENSION 

Read the passage and choose the best answer for each question below. 

Because writing has become so important in our culture, we sometimes think of it as more real than speech. A little thought, however, will show why speech is primary and writing secondary to language. Human beings have been writing (as far as we can tell from surviving evidence) for at least 5000 years; but they have been talking for much longer, doubtless ever since there have been human beings.

When writing did develop, it was derived from and represented speech, although imperfectly. Even today there are spoken languages that have no written form. Furthermore, we all learn to talk well before we learn to write; any human child who is not severely handicapped physically or mentally will learn to talk: a normal human being cannot be prevented from doing so. On the other hand, it takes a special effort to learn to write. In the past many intelligent and useful members of society did not acquire the skill, and even today many who speak languages with writing systems never learn to read or write, while some who learn the rudiments of those skills do so only imperfectly.

To affirm the primacy of speech over writing is not, however, to disparage the latter. One advantage writing has over speech is that it is more permanent and makes possible the records that any civilization must have. Thus, if speaking makes us human, writing makes us civilized.

81. We sometimes think of writing as more real than speech because ________. 

A. it has become very important in our culture

B. human beings have been writing for at least 5000 years

C. writing is secondary to language

D. people have been writing since there have been human beings

82. The author of the passage argues that ________.

A. all languages should have a written form

B. writing has become too important in today’s society

C. everyone who learns to speak must learn to write

D. speech is more basic to language than writing

83. Normal human beings ________.

A. learn to talk after learning to write  
B. learn to write before learning to talk

C. learn to write and to talk at the same time
D. learn to talk before learning to write

84. According to the passage, writing ________.

A. is represented perfectly by speech  
B. represents speech, but not perfectly

C. developed from imperfect speech  
D. is imperfect, but less so than speech

85. Learning to write is ________.

A. too difficult  
B. easy  
C. not easy  
D. very easy

86. In order to show that learning to write requires effort, the author gives the example of ________.

A. severely handicapped children  
B. people who learn the rudiments of speech

C. intelligent people who couldn’t write  
D. people who speak many languages

87. In the author’s judgment, ________.

A. writing is more real than speech

B. writing has more advantages than speech

C. speech conveys ideas less accurately than writing does

D. speech is essential but writing has important benefits

88. According to the author, one mark of any civilized society is that it ________.

A. keeps written records  
B. affirms the primacy of speech over writing

C. teaches its children to speak perfectly  
D. affirms the primacy of writing over speech

89. Which of the following is NOT true? 

A. It is easy to acquire the writing skill.

B. Writing has become so important in our culture.

C. Writing represents speech, but not perfectly.

D. Speech is essential but writing has important benefits.

90. The word “advantage” in the last paragraph most closely means ________.

A. skill  
B. rudiments 
C. domination  
D. benefit
PART 2: WRITING (2 pts)

Task 1: SENTENCE TRANSFORMATION (1.0 pt – 0.2/ each)

Rewrite the following sentences in such a way that their meanings remain unchanged, using the words given. 

91. I am having a lot of trouble now because I lost my passport last week. 

( If I

92. I’m sure it wasn’t Mr. Bill you saw because he’s in New York.
( It can’t

93. The best solution was thought of by Sally. (came) 
(

94. Most people regard him as the best man for the job. (widely)
(

95. The suspect could not explain why he had sand on his boots. (account)
(

Part 2. Paragraph writing  

“Child sexual abuse is one of the social problems”. In about 140 words, write a paragraph, Give reasons and solutions to lessen it.
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JOSH’S WHEATHER CENTRE TRIP


- Josh went to the Weather Centre with his (6) …………………….………….. .


- Josh says the Centre first reported strong winds in (7) …………………….…………...


- The Centre later put forecasts in (8) …………………….………….. for everyone to see.


- Lots of weather information now comes from (9) …………………….………….. according to Josh. 


- Josh thinks people need to know how much (10) …………………….………….. there'll be.
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